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11x + 8y = 104, ����� ����7 x = 8, y = 2
3x + 4x = 5x, ����� ����7 x = 2
2x2 + xy − 3y2 = 17, ����� ����7 x = 4, y = 3
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x + y + z = 100

4x + 6y + z = 200.

+ ���� ���
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� 7

x1 = 17, y1 = 5, z1 = 78
x2 = 14, y2 = 10, z2 = 76
x3 = 11, y3 = 15, z3 = 74
x4 = 8, y4 = 20, z4 = 72
x5 = 5, y5 = 25, z5 = 70
x6 = 2, y6 = 30, z6 = 68.
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x + y + z = d

ax + by + z = c,


 �
 ��� �� ;� 
���
 ��< �
���������� 
 ��
 � �� 
 ���� �


(����7

a = mt, b = nt, c = 10 kt,
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x + y + z = 10
2x + 6y + z = 20

x + y + z = 15
3x + 6y + z = 60

x + y + z = 10
6x + 10y + z = 60

. . . . . . . . . . . .

3 ���� �
���
  ���
� � %������%� � ��������% �����%� '
 & ����� � �������� ���*� ���
 � ���
� � �� B��� ��������� ��� ��� �� ��B�� - ���
� �� %���%�����-
��
� 
�'-�� ��
� +.*,3-!'�38,F7=3

4 � � ������ �
 �� & ���
� � �� �� ��
'� +.*,3�� "� ! � ���
������ ���! � �� ��'�
B���� ��
" & ����"�!�����6� � '
� � '����
 ��� �� ���
3C �
!
�-! � "� �
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� � '��� �'�-���
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 !����� �� �� ��!��� ���� � ��"
�� � � ���
 !� M! � �
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�� �� �
 ���! M! � � �N! �
 & �� ��
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 "� ! � � � '�� 
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 "�� �� "� �
 ��� ��� " & �
�
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�� �� ��� � <�� �� ��& 
�� -& �! �
B�
��� 0����� �� �0����:�-& �!�� �?�� � ��!'� & � ���
� � �
 �� �! � �! ���� "����� �� 
35� �
 ��� M�!�� � �� '��'�N3

5 �� & ���
'� � ! � � & �
'& �! '� ����"� m �n ��"� � ��'
��� �� [1, 5]-� "� k & ��& � "� ��'
��� �� [1, 10]3
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x + 2y +
1
3
z = 10. (1)
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x + y + z = 10. (2)

* ���
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 ���7

3x + 6y + (10 − x − y) = 30,

�
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2x = 20 − 5y = 5(4 − y).
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